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| Paper Math 7(T-1) |

| Time: 10 Minutes Total Marks: 10 |

| 3rd Month, 1st Week, 4th Day | Exercise 2.2 Complete |

Q.1. Choose the correct options. 0.5x6=3) -(J /;/l‘?ll(..,alﬁu/)

@ +10=12°?
4

() (b) 2 (©) 1 (a) 3
(ii) Identify the open sentences: W / L lﬁ'd/;/z’g
@| 2x+7=5 |()| 10+5=15 |(¢)| 18+2=9 [(d)| 16x4=64
(iii) Which of the following is the close sentences? ?‘Lo/“”:«kvufc.ufd 3109

(@] 5a+3b=10 |)| y+2=16 |@©]| 7p+5q=15 [(@)| 9+3=3

(iv) Which of the following is equation? ?‘Labl/du}’/:_ufd; R1O%)

(@ 2x-10<1 |(b) 8x <5 (©) S5x=17 (d) 8x <5
(v) Identify the inequality: (S GEE sl f
(@ 3x+8>10 |(b)| 2x-10<1 [(¢)| 3x-4=7x |(d)| Botha&b
JYsbusla
(vi) In x2 - 2xy + 16, the constant is: :‘LJE”” U~x2-2xy + 16
(a) 16 (b) 0 (©) 1 d) -2
% Answer the following questions: - A,«IXLQJJVJ“ 3
Q.2. Separate like and unlike terms from the given expression. (1x2=2)

Ui b By Bl oL s

3y +8+%x2 +4x

O0.5x4=2) _Soidoidiar Pl

() 42y +5x2+7yx2+4x (i)

Q.3. Separate open and close sentences.
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Y i b BBl S s

3.2 9.2
() 4y +52+Tyx+4ax (i) X TTLX T
Q.3. Separate open and close sentences.
i xty=16 (i) 18+2=9

(i) 10+10=

20

(iv) 10x+5=10

05x4=2) - Soiridbat Prndd

-Q/Jﬂue

i x+y=16 (i) 18+2=9
(iii) 10+10=20 (iv) 10x+5=10
Q.4. Complete the table. (1x3=3) -U:/J’{Jug
Sr # | Algebraic Expression | Number of Terms | Variables Constant
Lzg AR Y S~

(i) [4x*>-2y+8

Q.4. Complete the table. (1x3=3)
Sr # | Algebraic Expression | Number of Terms | Variables Constant
dagd gt 2 J~
(i) [4x*-2y+8

(i) |2xyz+20

(i) |2xyz +20

(iii) [x* - 2xy + 16

(iii)

x* - 2xy + 16




